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QUESTION 1

Which one of the following statements is considered a DNS "blind spot?"

A. A DNS blind spot is defined as the inability to change the CX DNS records for outbound requests.
B. A blind spot is the failure to properly monitor DNS activity for security purposes.

C. DNS blind spots are created when a root-level DNS server is under a DDos attack.

D. Blind spots are caused by improper or lack of proper software patching to DNS BIND servers.

E. DNS blind spots are a direct result of DoS port scanning of UDP port 53.

Correct Answer: B

QUESTION 2

Which three are valid HTTP request methods? (Choose three.)
A. GET

B. QUIT

C. PUT

D. HEAD

E. FETCH

Correct Answer: ACD

QUESTION 3

Given the scenario where the Downloads directory is in the home directory, which three of the following commands will
navigate you to the Downloads directory? (Choose three.)

A. cd /home//Downloads

B. cd /etc/home/bob/Downloads
C. cd Downloads

D. cd ~/Downloads

Correct Answer: ACD

QUESTION 4

Latest 210-250 Dumps | 210-250 PDF Dumps | 210-250 VCE Dumps 2/6


https://www.leads4pass.com/210-250.html
https://www.leads4pass.com/210-250.html
https://www.leads4pass.com/210-250.html

https://lwww.leads4pass.com/210-250.html
2024 Latest leads4pass 210-250 PDF and VCE dumps Download

What is the primary purpose for using an encryption algorithm on a message?
A. authentication

B. confidentiality

C. availability

D. integrity

Correct Answer: B

QUESTION 5
Attachment filenamse file size SHAL1 hash
1. scanned document B7&.doc 28954 263d8d2672e05eiBo0 794 £403fd48d998beET717
2. agcanncd documcnt S44.doc 28954 foaldecbod4f24001dd2cc2icdbofl 4dE0f4cIERE
3. scanned copy 1921,.doc 28954 203d3d2672cc5elBe0 794 ffd03fd48d998beET71Y
4. 3canned document E76.doc 28854 85efccSallenfT823edet2gbecdlbahless235a3
5. invoice.exe 32699 3d57ckd8abBfblelfd8=fiS5cedelTcdlfeSacT4efc

Refer to the exhibit. During an analysis, this list of email attachments is found. Which files contain the same content?
A.land 4
B.3and 4
C.1land3
D.1and 2

Correct Answer: C

QUESTION 6

What three elements can be configured in firewall polices to detect network-based malware? (Choose three.)
A. commonly used rainbow hash tables

B. commonly used protocols

C. SHA-256 hashes

D. metadata stored that is within the files

E. access control lists (ACLS)

Correct Answer: BCD
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QUESTION 7

Which three are valid fields in the Set-Cookie HTTP header? (Choose three.)
A. Expires

B. Domain

C. Session

D. Encrypted

E. Path

Correct Answer: ABE

QUESTION 8

Which of the following are responsibilities of an asset owner? (Mark all that apply)
A. Implementation of security controls

B. Asset security classification

C. Asset disposal

D. Analysis of the access logs

Correct Answer: BC

QUESTION 9

Which type of vulnerability scanner probes the target system to get information?
A. Intrusive

B. Direct

C. Passive D. Active

Correct Answer: D

QUESTION 10

Which form of NAT enables a firewall to selectively perform translations based on destination address?
A. static NAT

B. dynamic PAT

C. static PAT
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D. policy NAT
E. dynamic NAT

Correct Answer: D

QUESTION 11

Which form of NAT uses port addresses to distinguish between translated sessions?
A. static NAT

B. policy NAT

C. dynamic PAT

D. dynamic NAT

Correct Answer: C

QUESTION 12

What is Tor?

A. Tor is The Onion Router and is a free tool that enables its users to surf the Web anonymously.

B. Tor is The Onion Router and is a free tool that enables its users to send email in an encrypted way using PGP.

C. Tor is The Onion Router and is a free tool that enables its users to route packets anonymously by leveraging the
EIGRP or OSPF routing protocol.

D. Tor is The Onion Router and is a free tool that enables its users to route packets anonymously by using BGP.

Correct Answer: A

QUESTION 13

Which log type would be used for recording changes in a SQL database?
A. Transaction logs

B. Alert logs

C. Session logs

D. Threat logs

Correct Answer: A
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QUESTION 14

Which two attacks can be caused by a rogue DHCP server? (Choose two.)
A. Trojan virus

B. Compromised-Key

C. DoS

D. TCP SYN flood

E. MITM

Correct Answer: CE

QUESTION 15

Mar € 10:20:44 user sshd[12706]. Accepted publickey for user from
10.150.251.240 pori 55796 ssh2: RSA
SHA256:ABCD1231231239HR4J3VzPUNHZKA30

Mar € 10:20:44 user sshd[12706]. pam_unix(sshd:session): session opened for
user user by (uid=0)

Mar € 10:20:44 user systemd—loqind[1069]: New session 450 of user user

Mar € 10:20:44 user system: pam_unix(system-user:session): session

opened for user user by (uid=0)

Refer to the exhibit. Which description of what happened on the system is true?
A. A user connected to the system using SSH using source port 55796.

B. A user created a new HTTP session using the SHA256 hashing algorithm.
C. A user connected to the system after 450 attempts.

D. A user connected to the system using remote access VPN.

Correct Answer: A
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